
Y5 – Autumn – Block 3 – Step 4 – Common factors Answers

Question Answer

1

a) 1, 2, 9, 18
b) 3, 6
c) 1, 3, 9, 27
d) 1, 3, 9

They are factors of both numbers.

2

a) The factors of 24 are 1, 2, 3, 4, 6, 8, 12, 24
The factors of 36 are 1, 2, 3, 4, 6, 9, 12, 18, 36
The common factors of 24 and 36 are 1, 2, 3, 4, 6, 12

b) The factors of 30 are 1, 2, 3, 5, 6, 10, 15, 30
The factors of 45 are 1, 3, 5, 9, 15, 45
The common factors of 24 and 36 are 1, 3, 5, 15

3

a)

b) 1, 7
c) The common factors are in the intersection of the two circles.

4
a) 1, 5
b) 1

5 The common factor is 1
At least one of the numbers is odd.

6
Yes
36 is a factor of 72, so all the factors of 36 must also be factors of 72

7

a) 1, 2, 3, 4, 5, 6, 10, 12, 15, 20, 30, 60
b) 1, 2, 3, 4, 6, 7, 12, 14, 21, 28, 42, 84
c) 12

8

a) boxes holding 2, 3, 4 or 6 cakes
b) boxes holding 2, 3, 5, 6 or 10 cakes
c) boxes holding 2, 3 or 6 cakes
They can both use boxes with common factors of 24 and 30

9 72 and 80

1

21
7

53

35
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